Crossword Puzzle

Across

1 - Stupid

5-__ Selassie

10 - Suffragist Carrie

14 -Like ___ not

15 - Architectural piers

16 - Wimbledon winner, 1975
17 - Eliel Saarinen's son

18 - Ursa Minor

20 - Eyeglasses, for short

22 - Tussaud's title: Abbr.

23 - Kind of kitchen

24 - Whoopi's role in "The Color Purple"
26 - Able to

27 - Lack of reason

30 - Remote

34 - Aquanaut's base

35 - "Cheers" regular

36 - Charlemagne's realm: Abbr.
37 - Burt's ex

38 - Red cosmetic

40 - Puts on

Solution to Last Issue’s Puzzl
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41 - "Wheel of Fortune" buy
42 - Deserve

43 - "The _ Queene"

45 - Eyelash cosmetic

47 - Shelled reptiles

48 - Trick ending?

49 - Greeting

50 - Refine

53 - Debussy's "La ___"
54 - acustomer

58 - Well-off

61-Tons

62 - Calculus calculation
63 -You ___right!

64 - Experiment

65 - Wall Street pessimist
66 - Arm bones

67 - Canyon comeback

Down

1 - Conks out

2 - Miners' sch.

3 - Oliver Twist's request
4 - Green flower vegetable
5 - Acr Linden

6 - Weak

7 - "Who's there?" response
8 - Emit coherent light

9 - Areally big shoe?

10 - Bathhouse
11-Idhatetobreakup ____
12 - Bangkok native

13 - Small gull

19 - Give guns again

21 - Nintendo rival

25 - Collection of books
26 - Cautious

27 - Muslim religion

28 - Hotelier Helmsley

29 - Ways to the pins

30 - Cloudlike mass

31 - Verticil

32 -"L.A. Law" lawyer
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33 - Approvals

35 - Convent dweller
39-..man___mouse?
40 - Cause to explode
42 - 71% is under water
44 - He sang about Alice
46 - Underground room
47 - Mother of Calcutta
49 - Troy beauty

50 - Large mop

51 - Nothing more than
52-Zenoof ___

53 - Blackbird

55 - Util. bill

56 - Nonsense

57 - Director Preminger
59-__ decologne

60 - John ___ Passos




